4Il

>N

(o o) |
OPCO NAME
XXX XXX o™

STR. XXX |
Q o) 1V

R GRS

6'-0"
NOTE E
6-0"

NOTE E

| ]

o

z OPCO NAME
XXX XXX
STR. XXX

o

WOOD POLE TAG PLACEMENT DETAIL

POLE TAG PLACEMENT DETAIL

LATTICE TOWER MOUNTING PLATE

TO BE ATTACHED TO A VERTICAL LEG AND/OR

A HORIZONTAL BRACE AT A HEIGHT OF APPROXIMATELY 6' ABOVE GRADE
USING 1/4" STAINLESS STEEL HARDWARE

(MOUNTING HARDWARE SUPPLIED BY CONTRACTOR)

NOTE A: POLE TAGS SHALL BE CUSTOM ORDERED FOR EACH POLE. POLE TAGS ARE A NON-STOCK ITEM. THE SECOND LINE
OF EACH TAG (REPRESENTED BY XXX XXX) SHALL SAY "SEC." FOLLOWED BY THE SECTION NUMBER FOR CMP AND "CIRC."
FOLLOWED BY THE CIRCUIT NUMBER FOR NYSEG AND RG&E.

NOTE B: POLE TAGS SHALL BE EMBOSSED ALUMINUM.

NOTE C: POLE TAGS SHALL BE INSTALLED ON WOOD POLES USING FOUR (4) ALUMINUM ROOFING NAILS. POLE TAGS SHALL
BE INSTALLED ON STEEL POLES AND LATTICE TOWERS BY USING FOUR (4) 1/4" STAINLESS STEEL BOLTS AND NUTS ON
PROVIDED BRACKET OR PLATE. ALL FASTENERS SHALL BE PROVIDED BY CONTRACTOR.

NOTE D: SEE TK-02-001 FOR STRUCTURE NUMBERING PROCEDURE.

NOTE E: POLE TAGS SHALL BE INSTALLED AT APPROXIMATELY SIX (6) FEET ABOVE FINISH GRADE.

NOTE F: POLE TAGS SHALL BE INSTALLED ON THE RIGHT TRANSVERSE SIDE (FACING IN DIRECTION OF INCREASING
STRUCTURE NUMBER) OF THE STRUCTURE UNLESS THE STRUCTURE IS ROADSIDE IN WHICH THE TAG SHALL BE PLACED ON
THE SIDE OF THE STRUCTURE FACING THE ROAD.

NOTE F: THE BRACKET(S) FOR MOUNTING TO A STEEL POLE SHALL BE WELDED TO THE POLE BY THE STEEL POLE
MANUFACTURER PRIOR TO APPLICATION OF STRUCTURE FINISH.

NOTE G: THE PLATE/BRACKET FOR MOUNTING TO A STEEL POLE SHALL BE A MINIMUM OF 3/16" THICK.

NOTE H: STEEL POLE BRACKET OR LATTICE TOWER LEG SHALL BE FIELD DRILLED BY THE CONTRACTOR IN THE FIELD TO
ACCEPT THE INDIVIDUAL POLE TAG.

OPCO NAME

6'-0"
NOTE E

STEEL POLE BRACKET PLAN VIEW

XXX XXX o)
STR. XXX

[
[

[l
]

PE

< .
. g >
K4

—

. 2 - X
oo .4 Y. C

POLE TAG PLACEMENT DETAIL
STEEL POLE BRACKET ELEVATION VIEW

1" CLEAR
MIN.

RS SY S S

2" MIN.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 30"

TRANSMISSION STRUCTURE STANDARDS - MARKERS AND SIGNS REVISION
?é; CONSTRUCTION INSTALLATION DETAIL 00
IBERDROLA| STANDARDS FOR IDENTIFYING STRUCTURES DATE
USA MANUAL 5/21/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
B. Franklin| 6/10/2014 Becken/Hart 12/24/2014] Barry R. Hart |12/24/2014 TM2 23TK'O 1'001 Sheet 1




STRUCTURE NUMBERING

ALL NEW TRANSMISSION LINES SHALL BE NUMBERED SEQUENTIALLY WITH INTEGERS
FROM THE FIRST STRUCTURE IN LINE TO THE LAST STRUCTURE UNLESS OTHERWISE
NOTED. THE FIRST AND LAST STRUCTURE ON A LINE OUTSIDE OF A SUBSTATION
SHALL ALWAYS BE AN INTEGER.

WHERE ADDITIONAL STRUCTURES OR AUXILLIARY STRUCTURES (I.E. AERIAL POLES,
STUB POLES, FIBER OPTIC RE-ROUTES, ETC.) THAT CONSIST OF SIX (6) STRUCTURE
OR LESS SHALL BE NUMBERED WITH A DASH, AND NUMBERED 1 THORUGH 6, AFTER
THE NUMBER OF THE ADJACENT TRANSMISSION STRUCTURE.

EXAMPLE #1: IF A TRANSMISSION LINE HAS A SPECIAL SITUATION WHEREAS THE
OPGW MUST BE ROUTED SEPARATELY FROM THE MAIN TRANSMISSION LINE TO
APPROPRIATELY ENTER THE STATION AFTER STRUCTURE NUMBER 32 THEN THE
OPGW RE-ROUTE POLES WOULD BE NUMBERED 32-1, 32-2, ETC.

EXAMPLE #2: IF A LINE IS BEING THERMALLY RE-RATED AND IT IS DEEMED
NECESSARY TO ADD A NEW STRUCTURE BETWEEN EXISTING STRUCTURES 11 AND 12
THEN THE NEW MID-SPAN STRUCTURE SHALL BE NUMBERED 11-1. IF TWO NEW
STRUCTURES WERE REQUIRED THEN THEY SHALL BE NUMBERED 11-1 AND 11-2 IN
THE DIRECTION OF INCREASING STRUCTURE NUMBER RESPECTIVELY.

ALL TRANSMISSION TAPS, OFF AN EXISTING LINE, WILL BE ASSIGNED A NEW LINE
NUMBER BY SYSTEM OPERATIONS.

IN THE CMP SYSTEM MULTI-POLE STRUCTURES SHALL BE LABELED AS LEFT, MIDDLE,
RIGHT AND OTHER LOOKING IN THE DIRECTION OF INCREASING STRUCTURE
NUMBERS.

IN THE NYSE&G AND RG&E SYSTEMS MULTI-POLE STRUCTURES SHALL BE LABELED
AS A, B, C, AND D FROM LEFT TO RIGHT LOOKING IN THE DIRECTION OF INCREASING
STRUCTURE NUMBERS.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: N/A

£ TRANSMISSION REVISION
fl@. CONSTRUCTION STRUCTURE MARKER PROCEDURES 00
IBERDROLA| STANDARDS STRUCTURE NUMBERING METHOD DATE
USA MANUAL 5/21/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
B. Franklin| 6/10/2014 Becken/Hart 12/24/2014] Barry R. Hart  |12/24/2014 TM 2 . 23 TK'02'001 Sheet 1




AERIAL STRUCTURE MARKERS

ON HORIZONTAL SINGLE POLE CONSTRUCTION, THE LINE NUMBER SHALL BE
INSTALLED TO THE LEFT OF THE POLE AND THE STRUCTURE NUMBERS TO THE
RIGHT OF THE POLE. TAGS SHALL BE INSTALLED WITH THE TOP EVEN OR SLIGHTLY
BELOW THE BEVELED EDGE OF THE ARM.

ON HORIZONTAL SINGLE POLE DOUBLE CIRCUIT CONSTRUCTION, THE AERIAL
MARKERS SHALL BE INSTALLED WITH THE LINE NUMBER AND STRUCTURE NUMBER
ON THE TOP CROSSARM OF THE STRUCTURE, ON THE SIDE OF THE POLE
COORESPONDING WITH THE LINE NUMBER THE MARKERS ARE FOR.

ON H-FRAME CONSTRUCTION, THE LINE NUMBER SHALL BE INSTALLED TO THE LEFT
OF THE RIGHT MOST POLE AND THE STRUCTURE NUMBERS TO THE RIGHT OF THE
RIGHT MOST POLE. TAGS SHALL BE INSTALLED WITH THE TOP EVEN OR SLIGHTLY
BELOW THE BEVELED EDGE OF THE ARM.

ON SINGLE POLE VERTICAL CONSTRUCTION, THE LINE NUMBER SHALL BE
INSTALLED WITH THE TOP OF THE AERIAL MARKER APPROXIMATELY 1'- 6" FROM THE
TOP OF THE POLE. THE TOP OF THE STRUCTURE NUMBER SHALL BE INSTALLED
APPROXIMATELY 6" BELOW THE BOTTOM OF THE LINE NUMBER.

ON SINGLE POLE VERTICAL DOUBLE CIRCUIT CONSTRUCTION, THE AERIAL MARKER
SHALL BE INSTALLED APPROXIMATELY 45 DEGREES OFFSET FROM THE LONGITUDINAL
FACE OF THE POLE TO BE ORIENTED TOWARD THE LINE NUMBER THE AERIAL
MARKERS ARE FOR.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs. Drawing Scale: N/A

£ TRANSMISSION REVISION
& CONSTRUCTION 00

AERIAL STRUCTURE MARKER PROCEDURES

IBERDROLA STANDARDS DATE

USA MANUAL 5/21/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
B. Franklin| 3/01/2012 Becken/Hart 12/24/2014] Barry R. Hart |12/24/2014 TM 2 . 23 TK'03'001 Sheet 1




AERIAL STRUCTURE MARKERS

LINE NUMBERS AND STRUCTURE NUMBERS SHALL BE INSTALLED ON EACH
STRUCTURE AT THE FOLLOWING LOCATIONS:

- FIRST AND LAST STRUCTURE OF EACH LINE, ON BOTH SIDES OF THE STRUCTURE,
- AT ROAD CROSSINGS ON THE CLOSEST STRUCTURE TO THE ROAD, ON BOTH SIDES
OF THE STRUCTURE,

- AT TRANSMISSION LINE CROSSINGS, ON BOTH SIDES OF THE STRUCTURE,

- AT EACH STRUCTURE ADJACENT TO A TAP, ON BOTH SIDES OF THE STRUCTURE.

- WHEREVER A LINE NUMBER MARKER IS INSTALLED,

- AT EVERY 10TH STRUCTURE ON 34KV, 46KV AND 69KV CONSTRUCTION ON BOTH
SIDES OF THE STRUCTURE,

- AT EVERY 5TH STRUCTURE ON 115KV, 230KV AND 345KV CONSTRUCTION ON BOTH
SIDES OF THE STRUCTURE.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs. Drawing Scale: N/A

£ TRANSMISSION REVISION
& CONSTRUCTION 00

AERIAL STRUCTURE MARKER PROCEDURES

IBERDROLA STANDARDS DATE

USA MANUAL 5/21/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
B. Franklin| 3/01/2012 Becken/Hart 12/24/2014] Barry R. Hart |12/24/2014 TM 2 . 23 TK'03'001 Sheet 2




p AERIAL AERIAL
DIRECTION OF LINE# LINE# AERIAL
NUMBERING AERIAL AERIAL < POLES
AERIAL AERIAL POLE# \ / POLE#
<w— AERIAL
LINE# — 4 POLE# ALIT,\ITIIE,;L\ LINE#
AERIAL —%"| ~4— AERIAL AERIAL AERIAL
POLE# LINE# unes — Y U Unes AERIAL_»~
AERIAL AERIAL POLE#
POLE# POLE#
SINGLE POLE SINGLE POLE HORIZONTAL
e DOUBLE CIRCUIT HORIZONTAL
SINGLE CIRCUIT CROSSARM H-FRAME

CROSSARM

AERIAL
<& POLE#

/

AERIAL
AERIAL LINE#
LINE#

AERIAL/V

POLE#
HORIZONTAL

3-POLE
H-FRAME

LINE#X ( POLE#
< 7&

18 LT

LINE# POLE# LINE# POLE# / r
2 - . -
% POLE# 21JALINE# %

SINGLE POLE

SINGLE CIRCUIT SINGLE POLE

DOUBLE CIRCUIT

: :

CROSSARM HORIZONTAL

CROSSARM

I |

LINE#—/:/
POLE#

HORIZONTAL
3-POLE
H-FRAME

H-FRAME

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: N/A

g TRANSMISSION AERIAL STRUCTURE MARKER PROCEDURES REVISION

IBERDROLA| ~ sTanDARDS
USA MANUAL

CONSTRUCTION AERIAL STRUCTURE TAG LOCATIONS 00

DATE

5/21/2015

Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
B. Franklin| 2/11/2013 Becken/Hart 4/11/2013| Barry R. Hart (12/24/2014 TM2 . 23TK'03'001 Sheet 3




DIRECTION OF
NUMBERING
AERIAL
LINE#
AERIAL
POLE#

AERIAL
LINE#
AERIAL
POLE#

SINGLE POLE
SINGLE CIRCUIT
POST OR DAVIT

Yy

NOTE 1

W9-l

- A
NOTE1 © I:ﬁ‘—" POLE#

AERIAL AERIAL
LINE# LINE#

AERIAL AERIAL
POLE# 45° POLE#
45°
AERIAL AERIAL
LINE# LINE#
AERIAL  gINGLE POLE AERIAL

POLE# DOUBLE CIRCUIT POLE#
POST OR DAVIT

LINE#

Y
' NOTE 1
A

NOTE1 ¢
POLE#

<
<
<

LINE#
POLE#

AERIAL
AERIAL LINE#
AERIAL
LINEs POLE#
AERIAL
POLE#

HORIZONTAL 3-POLE
H-FRAME WITHOUT

CROSSARM
LINE#
©
F\ NOTE1 .
© ‘—ﬂ
POLE#—/

e i L B L
INGLE POLE
SINGLE CIRCUIT SINGLE POLE HORIZONTAL 3-POLE
POST OR DAVIT DOUBLE CIRCUIT H-FRAME WITHOUT
ARMS POST OR DAVIT CROSSARM
E—— ARMS
NOTE 1: THESE DIMENSIONS CAN VARY SLIGHTLY BASED ON THE
HARDWARE AND GROUNDING ALREADY INSTALLED ON THE POLE.
THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY
Contact Engineering Standards - Transmission Section for the creation of new standards and CUs. Drawing Scale: N/A
¢ TRANSMISSION AERIAL STRUCTURE MARKER PROCEDURES REVISION
?& CONSTRUCTION AERIAL STRUCTURE TAG LOCATIONS 00
IBERDROLA| STANDARDS DATE
USA MANUAL 5/21/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
B. Franklin| 2/11/2013 Becken/Hart 4/11/2013| Barry R. Hart (12/24/2014 TMZZBTK'OB'OO]- Sheet 4




BILL OF MATERIAL (CU Type: POLE)

o | Q. | uom oA CU: C*PT-TK-03-002-HW2
1 1 EA [6000814812 | SIGNAGE BRACKET, VERTICAL, FOR TWO TAGS
4 2 EA 1007420850 | SCREW, LAG, 1/2" X 4"

5 2 EA [6000274780| WASHER RD GALV. 1/4"

o | Qrv. | uom oA CU: C*PT-TK-03-002-HS2
1 1 EA | 6000814812 | SIGNAGE BRACKET, VERTICAL, FOR TWO TAGS
6 2 EA | 6000271690 BOLT MACHINE, STAINLESS STEEL, 5/8" X 1/2"

7 2 EA | 6000273610 | NUT, STAINLESS STEEL, HEX 5/8"

oM | arv. | uom UsA CU: C*PT-TK-03-002-HW3
2 1 EA [6000814813 | SIGNAGE BRACKET, VERTICAL, FOR THREE TAGS
4 2 EA 1007420850 | SCREW, LAG, 1/2" X 4"

5 2 EA (6000274780 | WASHER RD GALV. 1/4"

Tor | @rv. | uom oA CU: C*PT-TK-03-002-HS3
2 1 EA |6000814813 | SIGNAGE BRACKET, VERTICAL, FOR THREE TAGS
6 2 EA | 6000271690 BOLT MACHINE, STAINLESS STEEL, 5/8" X 1/2"

7 2 EA | 6000273610 | NUT, STAINLESS STEEL, HEX 5/8"

oM | arv. | uom IUSA CU: C*PT-TK-03-002-HW4
3 1 EA [6000814814 | SIGNAGE BRACKET, VERTICAL, FOR FOUR TAGS
4 2 EA |1007420850 | SCREW, LAG, 1/2" X 4"

5 2 EA [6000274780| WASHER RD GALV. 1/4"

o | Q. | uom oA CU: C*PT-TK-03-002-HS4
3 1 EA [6000814814 | SIGNAGE BRACKET, VERTICAL, FOR FOUR TAGS
6 2 EA | 6000271690 | BOLT MACHINE, STAINLESS STEEL, 5/8" X 1/2"

7 2 EA | 6000273610 | NUT, STAINLESS STEEL, HEX 5/8"

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THROUGH 344KV, T345 FOR

345KV AND GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE

OF ASTERISK (C* ).

NOTE A: CONTRACTOR SHALL FIELD DRILL TO ENLARGE THE HOLES IN THE
BRACKET IF THE HOLES ARE NOT LARGE ENOUGH FOR THE SPECIFIED MOUNTING
HARDWARE. UP TO 9/16" FOR THE 1/2" LAG SCREW (ITEM #4) OR 11/16" FOR THE 5/8"

BOLT (ITEM #6).

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: N/A

TRANSMISSION AERIAL MARKER STRUCTURE TAGS REVISION

ﬁ}& CONSTRUCTION DETAIL AND INSTALLATION OF AERIAL STRUCTURE MARKERS 00
IBERDROLA| STANDARDS HORIZONTAL CONSTRUCTION DATE
USA MANUAL 5/21/2015

Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:

B. Franklin| 3/05/2012 Becken/Hart 10/16/2014] Barry R. Hart |12/24/2014 TM223TK'03'002 Sheet 1




BILL OF MATERIAL (CU Type: POLE)

o | QrY. | uom oA CU: C*PT-TK-03-002-VW2

1 1 | EA 16000814802 | SIGNAGE BRACKET, VERTICAL, FOR TWO TAGS
4 2 | EA [1007420850 | SCREW, LAG, 1/2" X 4"
5 2 | EA [6000274780 | WASHER RD GALV. 1/4"

o | QTv. | uom s CU: C*PT-TK-03-002-VS2

1 1 | EA |6000814802 | SIGNAGE BRACKET, VERTICAL, FOR TWO TAGS
6 2 | EA [6000271690 | BOLT MACHINE, STAINLESS STEEL, 5/8" X 1/2"
7 2 | EA [6000273610| NUT, STAINLESS STEEL, HEX 5/8"

o | QTv. | uom o CU: C*PT-TK-03-002-VW3

2 1 | EA |6000814803 | SIGNAGE BRACKET, VERTICAL, FOR THREE TAGS
4 2 | EA [1007420850 | SCREW, LAG, 1/2" X 4"
5 2 | EA [6000274780| WASHER RD GALV. 1/4"

o | @Tv. | uom s CU: C*PT-TK-03-002-VS3

2 1 | EA |6000814803 | SIGNAGE BRACKET, VERTICAL, FOR THREE TAGS
6 2 | EA [6000271690 | BOLT MACHINE, STAINLESS STEEL, 5/8" X 1/2"
7 2 | EA [6000273610| NUT, STAINLESS STEEL, HEX 5/8"

o | QTv. | uom s CU: C*PT-TK-03-002-VW4

3 1 | EA |6000814804 | SIGNAGE BRACKET, VERTICAL, FOR FOUR TAGS
4 2 | EA [1007420850 | SCREW, LAG, 1/2" X 4"
5 2 | EA [6000274780 | WASHER RD GALV. 1/4"

o | Qry. | uom oA CU: C*PT-TK-03-002-VS4

3 1 | EA 16000814804 | SIGNAGE BRACKET, VERTICAL, FOR FOUR TAGS
6 2 | EA [6000271690 | BOLT MACHINE, STAINLESS STEEL, 5/8" X 1/2"
7 2 | EA [6000273610 | NUT, STAINLESS STEEL, HEX 5/8"

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THROUGH 344KV, T345 FOR
345KV AND GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE
OF ASTERISK (C* ).

NOTE A: CONTRACTOR SHALL FIELD DRILL TO ENLARGE THE HOLES IN THE
BRACKET IF THE HOLES ARE NOT LARGE ENOUGH FOR THE SPECIFIED MOUNTING
HARDWARE. UP TO 9/16" FOR THE 1/2" LAG SCREW (ITEM #4) OR 11/16" FOR THE 5/8"
BOLT (ITEM #6).

| [

- _

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: N/A

TRANSMISSION AERIAL MARKER STRUCTURE TAGS REVISION

m CONSTRUCTION DETAIL AND INSTALLATION OF AERIAL STRUCTURE MARKERS 00
IBERDROLA| STANDARDS VERTICAL CONSTRUCTION DATE
USA MANUAL 5/21/2015

Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:

B. Franklin| 3/05/2012 Becken/Hart 10/16/2014] Barry R. Hart |12/24/2014 TM223TK'03'002 Sheet 2




BILL OF MATERIAL (CU Type: POLE)

IUSA

CuU QTY. | uoMm MID
C*PT-TK-03-003-1 1 EA | 6000820101 | SIGNAGE TAG, AERIAL, PLASTIC 6 IN "1"
C*PT-TK-03-003-2 1 EA 6000820102 | SIGNAGE TAG, AERIAL, PLASTIC 6 IN "2"
C*PT-TK-03-003-3 1 EA | 6000820103 | SIGNAGE TAG, AERIAL, PLASTIC 6 IN "3"
C*PT-TK-03-003-4 | 1 | EA [6000820104 | SIGNAGE TAG, AERIAL, PLASTIC 6 IN "4"
C*PT-TK-03-003-5 | 1 | EA [6000820105 | SIGNAGE TAG, AERIAL, PLASTIC 6 IN "5"
C*PT-TK-03-003-6 | 1 | EA [6000820106 | SIGNAGE TAG, AERIAL, PLASTIC 6 IN "6"
C*PT-TK-03-003-7 1 EA | 6000820107 | SIGNAGE TAG, AERIAL, PLASTIC 6 IN "7"
C*PT-TK-03-003-8 1 EA 6000820108 | SIGNAGE TAG, AERIAL, PLASTIC 6 IN "8"
C*PT-TK-03-003-9 1 EA 6000820109 | SIGNAGE TAG, AERIAL, PLASTIC 6 IN "9"
C*PT-TK-03-003-0 1 EA 6000820110 | SIGNAGE TAG, AERIAL, PLASTIC 6 IN "0"
C*PT-TK-03-003-Y 1 EA | 6000820111 | SIGNAGE TAG, AERIAL, PLASTIC 6 IN BLANK
C*PT-TK-03-003-A 1 EA | 6000820112 | SIGNAGE TAG, AERIAL, PLASTIC 6 IN "A"
C*PT-TK-03-003-B 1 EA | 6000820113 | SIGNAGE TAG, AERIAL, PLASTIC 6 IN "B"
C*PT-TK-03-003-C | 1 | EA [6000820114 | SIGNAGE TAG, AERIAL, PLASTIC 6 IN "C"
C*PT-TK-03-003-D 1 EA | 6000820115 | SIGNAGE TAG, AERIAL, PLASTIC 6 IN "D"
C*PT-TK-03-003-E 1 EA 6000820116 | SIGNAGE TAG, AERIAL, PLASTIC 6 IN "E"
C*PT-TK-03-003-F 1 EA | 6000820117 | SIGNAGE TAG, AERIAL, PLASTIC 6 IN "F"
C*PT-TK-03-003-Z 1 EA | 6000820118 | SIGNAGE TAG, AERIAL, PLASTIC 6 IN "."
5"
| —
A
N~
!

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THROUGH 344KV, T345 FOR

345KV AND GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE

OF ASTERISK (C*)).

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: N/A

TRANSMISSION TRANSMISSION LINE CROSSINGS REVISION

%my CONSTRUCTION AERIAL MARKER STRUCTURE TAGS 00
IBERDROLA STANDARDS ON WOOD AND STEEL STRUCTURES DATE
USA MANUAL 5/21/2015

Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:

B. Frankiin| 3/05/2012 Becken/Hart 30572015 Bary R Hart [4ooots| | M2.23.TK-03-003 | Sheett




NOTES:

"X" AERIAL TAGS WILL BE
INSTALLED AS SHOWN ON:

34.5, 46 AND 69KV LINES - 8
STRUCTURES AWAY FROM THE
XING, ON EACH SIDE OF THE
XING

115, 230 AND 345kV LINES - 4
STRUCTURES AWAY FROM THE
XING, ON EACH SIDE OF THE XING

LINE # AND STRUCTURE #
AERIAL TAGS, INSTALLED PER
TK-03-001, LOCATED ON
STRUCTURES ADJACENT TO
THE LINE XING

"X" AERIAL TAG,
LOCATED AT THE
TOP OF POLE FACING
AWAY FROM THE

XING, ON SINGLE
POLE DAVIT ARM
AND LINE POST

CONSTRUCTION

"X" AERIAL TAG,
LOCATED ON THE
TOP XARM FACING
AWAY FROM THE
XING, ON SINGLE
POLE XARM
CONSTRUCTION

M~

(.

"X" AERIAL TAG, "X" AERIAL TAG, "X" AERIAL TAG, LOCATED
ON LINES BEING CROSSED LOCATED AT THE LOCATED ON THE ON THE XARM FACING
OVER BY ANOTHER LINE, TOP OF POLE FACING TOP XARM FACING AWAY FROM THE XING, ON

AWAY FROM THE AWAY FROM THE H-FRAME CONSTRUCTION
XING, ON SINGLE XING, ON SINGLE

POLE DAVIT ARM POLE XARM

AND LINE POST CONSTRUCTION

CONSTRUCTION

Yy s
/ Nﬁ%\?\%&

LT

"X" AERIAL TAG, LOCATED
ON THE XARM FACING
AWAY FROM THE XING, ON
H-FRAME CONSTRUCTION

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs. Drawing Scale: N/A
¢ TRANSMISSION TRANSMISSION LINE CROSSINGS REVISION
?& CONSTRUCTION AERIAL MARKER STRUCTURE TAGS 00
IBERDROLA| STANDARDS DATE
USA MANUAL 5/21/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
B. Franklin| 3/25/2012 Becken/Hart 3/05/2015| Barry R. Hart | 4/09/2015 TM2.23.TK-03-004 Sheet 1




HORIZONTAL
H-FRAME

[ e

[ T

| [

I

SINGLE POLE
CROSSARM
STRUCTURE

=

3

SINGLE POLE
SINGLE CIRCUIT
POST OR DAVIT

ARMS

NOTE: ALL VIEWS ARE FACING THE STRUCTURE OF THE LINE BEING CROSSED OVER
LOOKING TOWARD THE CROSSING.

HORIZONTAL
3-POLE
H-FRAME

1-g"

HORIZONTAL 3-POLE

H-FRAME WITHOUT
CROSSARM

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: N/A

TRANSMISSION

¢ TRANSMISSION LINE CROSSINGS REVISION
?& CONSTRUCTION AERIAL MARKER STRUCTURE TAGS 00
IBERDROLA| STANDARDS TAG PLACEMENT DATE
USA MANUAL 5/21/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
B. Franklin| 3/25/2013 Becken/Hart 12/24/2014| Barry R. Hart |12/24/2014 TM223TK'03'004 Sheet 2




BILL OF MATERIAL (CU Type: POLE)

ITEM

QTY. | uom

IUSA
MID

CU: C*PT-TK-03-004-VWX

EA

6000821121

AERIAL TAG, PLASTIC INJECTED MOLD, LETTER X

EA

6000814801

SIGNAGE BRACKET, VERTICAL, SINGLE TAG

EA

1007420850

SCREW, LAG, 1/2" X 4"

INIRININFS

N[N

EA

6000274780

WASHER RD GALV. 1/4"

BILL OF MATERIAL (CU Type: POLE)

ITEM

QTY. | uOM

IUSA
MID

CU: C*PT-TK-03-004-VSX

EA

6000821121

AERIAL TAG, PLASTIC INJECTED MOLD, LETTER X

EA

6000814801

SIGNAGE BRACKET, VERTICAL, SINGLE TAG

EA

6000271690

BOLT MACHINE, STAINLESS STEEL, 5/8" X 1/2"

o|afdo|=]3

N[N

EA

6000273610

NUT, STAINLESS STEEL, HEX 5/8"

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THROUGH 344KV, T345 FOR

o o o

O

345KV AND GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE

OF ASTERISK (C* ).

NOTE A: CONTRACTOR SHALL FIELD DRILL TO ENLARGE THE HOLES IN THE
BRACKET IF THE HOLES ARE NOT LARGE ENOUGH FOR THE SPECIFIED MOUNTING
HARDWARE. UP TO 9/16" FOR THE 1/2" LAG SCREW (ITEM #3) OR 11/16" FOR THE 5/8"

BOLT (ITEM #5).

] OR

P

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: N/A

TRANSMISSION TRANSMISSION LINE CROSSINGS REVISION
ﬁ?‘» CONSTRUCTION AERIAL MARKER STRUCTURE TAGS 00
IBERDROLA STANDARDS ON WOOD AND STEEL STRUCTURES DATE
USA MANUAL 5/21/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
B. Frankiin |11/30/2012 Becken/Hart Tohai014| Barry R Hart |ioiaoid] | M2.23.TK-03-004 | Sheet3




BILL OF MATERIAL (CU Type: POLE)

TEW [ ory [ uom | 1058 CU: C*PT-TK-03-004-HWX

EA |6000821121| AERIAL TAG, PLASTIC INJECTED MOLD, LETTER X

EA 6000814811 | SIGNAGE BRACKET, HORIZONTAL, SINGLE TAG

EA 1007420850 | SCREW, LAG, 1/2" X 4"

INIRININFS
NN

EA 6000274780 | WASHER RD GALV. 1/4"

BILL OF MATERIAL (CU Type: POLE)

TEM 1 qrv. | oM o CU: C*PT-TK-03-004-HSX

NO.
1 1 EA 16000821121 | AERIAL TAG, PLASTIC INJECTED MOLD, LETTER X
2 1 EA | 6000814811 | SIGNAGE BRACKET, HORIZONTAL, SINGLE TAG
5 2 EA 16000271690 | BOLT MACHINE, STAINLESS STEEL, 5/8" X 1/2"
6 2 EA | 6000273610 | NUT, STAINLESS STEEL, HEX 5/8"
——
— O Od——
—

OR

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THROUGH 344KV, T345 FOR
345KV AND GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE
OF ASTERISK (C* ).

NOTE A: CONTRACTOR SHALL FIELD DRILL TO ENLARGE THE HOLES IN THE
BRACKET IF THE HOLES ARE NOT LARGE ENOUGH FOR THE SPECIFIED MOUNTING
HARDWARE. UP TO 9/16" FOR THE 1/2" LAG SCREW (ITEM #3) OR 11/16" FOR THE 5/8"
BOLT (ITEM #5).

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: N/A

TRANSMISSION TRANSMISSION LINE CROSSINGS REVISION

ﬁ?‘» CONSTRUCTION AERIAL MARKER STRUCTURE TAGS 00
IBERDROLA STANDARDS ON WOOD AND STEEL STRUCTURES DATE
USA MANUAL 5/21/2015

Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:

B. Frankiin |11/30/2012 Becken/Hart Tohai014| Barry R Hart |ioiaoid] | M2.23.TK-03-004 | Sheet4




AT

NOTES FOR INSTALLATION OF AERIAL MARKER BALLS FOR AERIAL PATROL AND OTHER NON-FAA APPLICATIONS:

1) INSTALLATION OF AERIAL MARKERS SHALL CONFORM TO THE F.A.A. REGULATION AS SHOWN BELOW IN NOTES 1, 2 AND 5 LISTED UNDER
FAA REGULATION INSTALLATION.

2) ALTERNATE TO NOTE 3: AERIAL BALLS SHALL BE INSTALLED A MINIMUM OF 50' FROM THE SUPPORTING STRUCTURES, THE REMAINING
AERIAL BALLS IN THE SPAN SHALL BE SPACED ABOUT EVERY 50'.

3) 9" DIAMETER MARKER BALLS MAY BE USED.

NOTES FOR INSTALLATION OF AERIAL MARKER BALLS REQUIRED BY F.A.A. REGULATION AC 70/7460-1K CHAPTER 10:

1) AERIAL MARKER BALLS SHALL BE INSTALLED ON THE HIGHEST WIRE, TYPICALLY THE STATIC WIRE, OF THETRANSMISSION LINE THAT
CROSSES OVER ANOTHER LINE.
2) IF THERE ARE TWO STATIC WIRES, INSTALL MARKER BALLS ON BOTH WIRES AS ILLUSTRATED. IF THERE IS NO STATIC WIRE
(UNPROTECTED/UNSHIELDED), INSTALL THE MARKER BALLS ON THE TOP PHASE. IF THERE ARE TWO OR THREE PHASES AT THE TOP PHASE|
LEVEL, INSTALL MARKER BALLS ON ALL PHASE WIRES THAT ARE AT THE HIGHEST LEVEL.
3) PLACE ONE MARKER BALL ON A WIRE DIRECTLY ABOVE THE CROSSED LINE. INSTALL ADDITIONAL MARKER BALLS SPACED EQUALLY
ALONG THE WIRE AT 50 FOOT INTERVALS.
4) 20" DIAMETER AERIAL MARKER BALLS SHALL BE USED ON ANY MARKED WIRE THAT IS LESS THAN
50' ABOVE THE GROUND OR 36" DIAMETER AERIAL MARKER BALLS SHALL BE USED ON ANY MARKED
WIRE THAT IS 50' OR GREATER ABOVE THE GROUND.
5) THE COLORS OF THE AERIAL MARKER BALLS SHALL ALTERNATE AS DESCRIBED BELOW BASED ON
THE NUMBER OF BALLS PER SPAN OF WIRE:
NO. OF BALLS ORDER OF COLORS
1 O
(0]

(0]

~Noobhw
OO0OO0O0O0
£szs=0
<=<=<=<0

o
-W-0
-W-Y-0
-0-W-Y-0

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs. Drawing Scale: NTS
& TRANSMISSION REVISION
' CONSTRUCTION TRANSMISSION LINE CROSSINGS 00
IBERDROLA STANDARDS AERIAL MARKER BALLS DATE
USA MANUAL 5/21/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
B. Frankiin| 1/28/2014 Becken/Hart Tonan0ia| BaryR Fart [5oro1s| | M2.23. TK-03-005 | Sheet1




FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN

7"

A
Y

4"

/N\ CAUTION FIBER OPTIC CABLE A\
DO NOT CUT
NEW YORK STATE ELECTRIC & GAS

SVO % 21410313 ILVLS XHdOA MAN

1NO 10N Od
Y 318v2 2ILdO ¥3814 NOLLNYD \/

C5CT-TK-05-001
MID: 6000815505

7"

A
!

4"

/N\ CAUTION FIBER OPTIC CABLE /\
DO NOT CUT
CENTRAL MAINE POWER

d3aMOd IANIVIA TVHLINTD

1ND 1ON Od
W 378v2 2ILdO ¥3814 NOLLNYD \/

C6CT-TK-05-001
MID: 6000815504

7"

A
!

4"

/N\ CAUTION FIBER OPTIC CABLE /\
DO NOT CUT

ROCHESTER GAS & ELECTRIC

Old10313 2 SVO 431S3HO0Y

1ND 1ON Od
Y 378v2 DI1LdO ¥3814 NOLLNYD \/

PLACE OF ASTERISK (C*_).

NOTE A: LABEL SHALL BE ORANGE WITH BLACK LETTERING AND SYMBOLS.

NOTE B: REFER TO "TO" SECTION FOR INSTALLATION DETAILS.

C9CT-TK-05-001
MID: 6000815506

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: N/A

4" TRANSMISSION STRUCTURE STANDARDS - MARKERS AND SIGNS REVISION
?’& CONSTRUCTION CABLE WRAP-AROUND 00
IBERDROLA| STANDARDS FIBER OPTIC WARNING SIGN DATE
USA MANUAL 5/21/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
B. Franklin| 6/10/2014 Becken/Hart 12/24/2014] Barry R. Hart |12/24/2014 TM 2 . 23 TK'O4'001 Sheet 1




THIS IS A COMPUTER GENERATED
DRAWING - DO NOT REVISE MANUALLY

\

s >

ANSI A
8-1/2" X 11"\ _~

CU Function:

U_TL69 for 35kV & 46kV, U_TG69 for 69KV thru 344kV, U_T345 for 345kV & greater.

For correct CU:
substitute 2 for NYSEG, 3 for CMP or 4 for RG&E in place of asterisk (U*_).

BILL OF MATERIAL

CU Type: UC_POLE

ITEM
no | QTY

GLOBAL
UOM| |UsA MID

CU: U*PT-TK-04-002

1 1

ST | 30920346 |FO WARNING LABEL FORPOLE 2 X3

1 0.1

LB | 30918792 [NAIL CWLD 16D 3-1/2" LONG

ATTACH WITH (4) CWLD 16D 3-1/2 IN LONG NAILS - MID 30918792

POSITION SIGN ON WOOD POLE
5" ABOVE GROUND LINE

Contact Engineering Standards - Transmission for the creation of new standards and CUs.

Drawing Scale: N/A

IBERDROLA USA TRANSMISSION MARKERS Revision
ggﬁg‘?g‘&%ﬂ%}'\l FIBER OPTIC SIGNAGE 00
IBERDROLA STANDARDS PLACEMENT ON WOOD POLE DATE
USA MANUAL BLACK ON ORANGE / 12015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved-By: |Date App.:
L.A. Best | 9/5/2013 Shepard/Becken/Hart / 12015 Barry R. Hart / 12015 TM223TK'04'002 Sheet 1




THIS IS A COMPUTER GENERATED
DRAWING - DO NOT REVISE MANUALLY

\
1

s >

ANSI A
8-1/2" X 11"

\—/

\

©1'IT\

17"

HIGH VOLTAGE
ELECTRICITY
KEEP PERSONS

AND EQUIPMENT
AT LEAST 10 FT.
AWAY FROM
ALL WIRES

R cHPISEE

POSITION DANGER
SIGN(S) 10' ABOVE
THE GROUND ON
POLE AS NEEDED TO
OPTIMIZE VISIBILITY
BY CONSTRUCTION
AND/OR EXCAVATION
VEHICLES IN THE
VICINITY OF
TRANSMISSION

LINES. THE SIGN
SHOULD BE USED IN
AREAS THAT HAVE
PERMANENT OR LONG
TERM CONSTRUCTION
AND/OR EXCAVATION.

R G

\ MOUNT WITH
(4) # 16D

CWLD NAILS
MID 1023091000

10" - 0"

CU Function:
U_TL69 for 35kV & 46kV,
U_TGB69 for 69kV thru 344kV,
U_T345 for 345kV & greater.

For correct CU:
substitute 2 for NYSEG,
3 for CMP or 4 for RG&E
in place of asterisk (U*_).

== A W= GROUNDLINE
e AN
T \\\\& R=NE]

BILL OF MATERIAL

CU Type: UC_POLE

T oy [uoM] GEQBAE CU: U*PT-TK-05-001
1 1 ST [ 30919845 |SIGN AL 'DANGER HI VOLTAGE'
1 0.1 LB | 30918792 |NAIL CWLD 16D 3-1/2" LONG

Contact Engineering Standards - Transmission for the creation of new standards and CUs. Drawing Scale: 1" = 10
IBERDROLA USA TRANSMISSION MARKERS Revision
CTSQE‘EQ/'L'JSCST'%;'\I DETAIL AND INSTALLATION OF DANGER SIGN IN 00
IBERDROLA STANDARDS PERMANENT CONSTRUCTION AND EXCAVATION AREAS DATE
USA MANUAL (MID 753831, GLOBAL MID 30919845) / 12015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved-By: |Date App.:
L.A. Best | 3/19/2012 Shepard/Becken/Hart / 12015 Barry R. Hart / 12015 TM223TK'05'001 Sheet 1




/N DANGER
Keep Off!f )

Hazardous
Voltage
Above

N\ J
You can be electrocuted or fall off

/N PELIGRO

iMaintengaze Alejado!

Voltage Peligrosa Adentra

Puede Electrocutado O Caerdo

O <

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN
PLACE OF ASTERISK (C*_).

NOTE A: INSTALL AT APPROX. 5' ABOVE FINISHED GRADE ON BOTH LONGITUDINAL
AND TRANSVERSE FACES OF EACH TOWER LEG. REFER TO STANDARD TE-07-002
FOR FURTHER DETAILS.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs. Drawing Scale: 1" = 30"
TRANSMISSION STRUCTURE STANDARDS - MARKERS AND SIGNS REVISION
| CONSTRUCTION ANTI-CLIMBING SIGN 00
IBERDROLA| STANDARDS FOR STEEL STRUCTURES DATE

USA MANUAL MID 6000825500 5/21/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
B. Frankiin| 9/5/2013 Becken/Hart or2aiois| BaryR Har ionaroid| |1 M2.23.TK-07-001 | sheet1




1l

(DI

[ swiTCH
MAT BELOW

6"

6"

1T
-

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE OF ASTERISK
(€.

NOTE A: OTHER STANDARD DRAWINGS REQUIRED
TK-08-002 SWITCH MAT BELOW SIGN
TK-08-003 SWITCH NUMBER HOLDERS
TK-08-004 SWITCH NUMBERS

NOTE B: SWITCH MAT BELOW SIGN AND SWITCH NUMBER SHALL BE ON THE UPPER LEFT SIDE OF
THE SWITCH OPERATION HANDLE OR MOTOR OPERATOR AND NOT OBSTRUCTED FROM VIEW BY
PERSONNEL STANDING IN POSITION TO MANUALLY OPERATE THE SWITCH.

NOTE C: IN THE EVENT THAT A HORIZONTAL SWITCH NUMBER SIGN IS UNABLE TO BE USED OR
WOULD BE PARTIALLY OBSTRUCTED BY VIEW A VERTICAL SIGN MAY BE USED.

NOTE D: SWITCH MAT BELOW SIGNS AND SWITCH NUMBERING HOLDERS SHALL BE INSTALLED ON
WOOD POLES USING FOUR (4) ALUMINUM ROOFING NAILS. POLE TAGS SHALL BE INSTALLED ON
STEEL POLES AND LATTICE STEEL TOWERS USING FOUR (4) 1/4" STAINLESS STEEL BOLTS AND NUTS
ON THE PROVIDED BRACKET OR ANGLE. ALL FASTENERS SHALL BE PROVIDED BY CONTRACTOR.

NOTE E: THE BRACKET(S) FOR MOUNTING TO A STEEL POLE SHALL BE WELDED TO THE POLE BY
THE MANUFACTURER PRIOR TO APPLICATION OF STRUCTURE FINISH.

NOTE F: STEEL POLE BRACKET OR LATTICE TOWER LEG SHALL SHALL BE FIELD DRILLED BY THE
CONTRACTOR IN THE FIELD TO ACCEPT THE INDIVIDUAL SIGN(S).

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: N/A

g TRANSMISSION TRANSMISSION LINE MARKERS REVISION
fl@. CONSTRUCTION SWITCH STRUCTURES 00
IBERDROLA STANDARDS APPLICATION DATE
USA MANUAL 5/21/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
B. Franklin| 9/15/2014 Becken/Hart 12/24/2014] Barry R. Hart  |12/24/2014 TM 2 . 23 TK'OS'OO]. Sheet 1




BILL OF MATERIAL (CU Type: POLE)

Mo | QTv- | uom o CU: C*PT-TK-08-002-SMB
1 1 EA [ 6000825688 | SIGN, PLASTIC INJECTED MOLD, SWITCH MAT BELOW
21."
2
E— J—
N
¢ MAT

BELOW

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE OF ASTERISK

(€.

NOTE A: OTHER STANDARD DRAWINGS REQUIRED
TK-08-001 APPLICATION
TK-08-003 SWITCH NUMBER HOLDERS

TK-08-004 SWITCH NUMBERS

NOTE B: SWITCH MAT BELOW SIGN AND SWITCH NUMBER SHALL BE ON THE UPPER LEFT SIDE OF
THE SWITCH OPERATION HANDLE OR MOTOR OPERATOR AND NOT OBSTRUCTED FROM VIEW BY

PERSONNEL STANDING IN POSITION TO MANUALLY OPERATE THE SWITCH.

NOTE C: SIGN IS GREEN WITH WHITE TEXT.

NOTE D: SWITCH MAT BELOW SIGN MID INCLUDES HOLDER.

NOTE E: SWITCH MAT BELOW SIGN SHALL BE INSTALLED ON WOOD POLES USING FOUR (4)
ALUMINUM ROOFING NAILS. POLE TAGS SHALL BE INSTALLED ON STEEL POLES AND LATTICE STEEL
TOWERS USING FOUR (4) 1/4" STAINLESS STEEL BOLTS AND NUTS ON THE PROVIDED BRACKET OR

ANGLE. ALL FASTENERS SHALL BE PROVIDED BY CONTRACTOR.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: N/A

g TRANSMISSION TRANSMISSION LINE MARKERS REVISION
fl@. CONSTRUCTION SWITCH STRUCTURES 00
IBERDROLA STANDARDS SWITCH MAT BELOW SIGN DATE
USA MANUAL 5/21/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
B. Franklin| 9/16/2014 Becken/Hart 12/24/2014] Barry R. Hart  |12/24/2014 TM223TK'08'002 Sheet 1




BILL OF MATERIAL (CU Type: POLE)

o | QrY. | uom oA CU: C*PT-TK-08-003-VSN

1 1 EA | 6000825691 | SIGN HOLDER, METAL, 10 CHARACTER, VERTICAL

o | @Tv. | uom s CU: C*PT-TK-08-003-HSN

2 1 | EA 16000825692 | SIGN HOLDER, METAL, 10 CHARACTER, HORIZONTAL

N
N

ﬁ

- (XXXIXIXXXIX

S>>

(°

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE OF ASTERISK
(C+).

NOTE A: OTHER STANDARD DRAWINGS REQUIRED
TK-08-001 APPLICATION

TK-08-002 SWITCH MAT BELOW SIGN
TK-08-004 SWITCH NUMBERS

NOTE B: SWITCH NUMBER SHALL BE ON THE UPPER LEFT SIDE OF THE SWITCH OPERATION
HANDLE OR MOTOR OPERATOR AND NOT OBSTRUCTED FROM VIEW BY PERSONNEL STANDING IN
POSITION TO MANUALLY OPERATE THE SWITCH.

NOTE C: IN THE EVENT THAT A HORIZONTAL SWITCH NUMBER SIGN IS UNABLE TO BE USED OR
WOULD BE PARTIALLY OBSTRUCTED BY VIEW A VERTICAL SIGN MAY BE USED.

NOTE D: SWITCH MAT BELOW SIGNS AND SWITCH NUMBERING HOLDERS SHALL BE INSTALLED ON
WOOD POLES USING FOUR (4) ALUMINUM ROOFING NAILS. POLE TAGS SHALL BE INSTALLED ON
STEEL POLES AND LATTICE STEEL TOWERS USING FOUR (4) 1/4" STAINLESS STEEL BOLTS AND NUTS
ON THE PROVIDED BRACKET OR ANGLE. ALL FASTENERS SHALL BE PROVIDED BY CONTRACTOR.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: N/A

g TRANSMISSION TRANSMISSION LINE MARKERS REVISION
fl@. CONSTRUCTION SWITCH STRUCTURES 00
IBERDROLA STANDARDS SWITCH NUMBER HOLDERS DATE
USA MANUAL 5/21/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
B. Franklin| 9/16/2014 Becken/Hart 12/24/2014] Barry R. Hart  |12/24/2014 TM223TK'08'003 Sheet 1




BILL OF MATERIAL (CU Type: POLE)

IUSA

CuU QTY. | uoMm MID
C*PT-TK-08-004-0 1 EA | 6000815570 ]| SIGN, HIGH REFLECTIVE, 2-1/2 IN "0"
C*PT-TK-08-004-1 1 EA | 6000815571 ]| SIGN, HIGH REFLECTIVE, 2-1/2 IN "1"
C*PT-TK-08-004-2 1 EA | 6000815572 | SIGN, HIGH REFLECTIVE, 2-1/2 IN "2"
C*PT-TK-08-004-3 1 EA | 6000815573 | SIGN, HIGH REFLECTIVE, 2-1/2 IN "3"
C*PT-TK-08-004-4 1 EA | 6000815574 | SIGN, HIGH REFLECTIVE, 2-1/2 IN "4"
C*PT-TK-08-004-5 1 EA | 6000815575 | SIGN, HIGH REFLECTIVE, 2-1/2 IN "5"
C*PT-TK-08-004-6 | 1 | EA [6000815576 | SIGN, HIGH REFLECTIVE, 2-1/2 IN "6" & "9"
C*PT-TK-08-004-7 1 EA | 6000815577 | SIGN, HIGH REFLECTIVE, 2-1/2 IN "7"
C*PT-TK-08-004-8 1 EA | 6000815578 | SIGN, HIGH REFLECTIVE, 2-1/2 IN "8"
C*PT-TK-08-004-9 1 EA | 6000815579 | SIGN, HIGH REFLECTIVE, 2-1/2 IN "1/2"
C*PT-TK-08-004-A 1 EA | 6000815581 | SIGN, HIGH REFLECTIVE, 2-1/2 IN "A"
C*PT-TK-08-004-B 1 EA | 6000815582 | SIGN, HIGH REFLECTIVE, 2-1/2 IN "B"
C*PT-TK-08-004-C 1 EA | 6000815583 | SIGN, HIGH REFLECTIVE, 2-1/2 IN "C"
C*PT-TK-08-004-D 1 EA | 6000815584 | SIGN, HIGH REFLECTIVE, 2-1/2 IN "D"
C*PT-TK-08-004-E 1 EA | 6000815585 | SIGN, HIGH REFLECTIVE, 2-1/2 IN "E"
C*PT-TK-08-004-W 1 EA | 6000815586 | SIGN, HIGH REFLECTIVE, 2-1/2 IN "-"
C*PT-TK-08-004-Y 1 EA |6000815587 | SIGN, HIGH REFLECTIVE, 2-1/2 IN "/"
C*PT-TK-08-004-Z 1 EA | 6000815580 | SIGN, HIGH REFLECTIVE, 2-1/2 IN "."
1-3/4"
| —
A
_‘_

0| «N

~ ~

~

ANl N

1
!

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE
OF ASTERISK (C*)).

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: N/A

TRANSMISSION TRANSMISSION LINE MARKERS REVISION

G CONSTRUCTION SWITCH STRUCTURES 00
IBERDROLA| STANDARDS SWITCH NUMBERS DATE
USA MANUAL 5/21/2015

Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:

B. Frankiin| 9/16/2014 Becken/Hart Tohai014| Barry R Hart |oranoid] |1 M2.23.TK-08-004 | sheet1




